[image: image1.wmf]2

2

2

2

)

(

x

xy

y

x

y

+

+

=

+

Binomische Formeln

1. Binomische Formel
[image: image2.wmf]2

2

2

1

)

1

(

x

x

x

+

+

=

+


[image: image3.wmf]2

2

2

2

2

9

12

4

)

3

(

)

3

)(

2

(

2

)

2

(

)

3

2

(

y

xy

x

y

y

x

x

y

x

+

+

=

+

+

=

+



[image: image4.wmf]2

2

2

2

9

4

)

3

(

)

2

(

)

3

2

)(

3

2

(

y

x

y

x

y

x

y

x

-

=

-

=

-

+


2. Binomische Formel
[image: image5.wmf]2

2

2

1

)

1

(

x

x

x

+

-

=

-





[image: image6.wmf]2

2

2

2

2

9

12

4

)

3

(

)

3

)(

2

(

2

)

2

(

)

3

2

(

y

xy

x

y

y

x

x

y

x

+

-

=

+

-

=

-

 

[image: image7.wmf]2

2

2

2

)

(

x

xy

y

x

y

+

-

=

-


[image: image8.wmf]2

1

)

1

)(

1

(

x

x

x

-

=

-

+

[image: image9.wmf]2

2

)

)(

(

x

y

x

y

x

y

-

=

-

+

[image: image10.wmf]2

)

(

b

a

-

3. Binomische Formel
	Aufgabe
	Welche Binomische

Formel?
	Lösung

	[image: image11.wmf])

)(

(

b

a

b

a

+

-


	
	

	[image: image12.wmf]2

)

1

2

(

-


	
	

	[image: image13.wmf]2

)

2

1

(

b

+


	
	

	[image: image14.wmf]2

)

1

(

-

a


	
	

	[image: image15.wmf]2

)

(

b

a

-


	
	

	[image: image16.wmf])

1

)(

1

(

a

a

+

-


	
	

	[image: image17.wmf])

1

)(

1

(

b

a

+

-


	
	

	[image: image18.wmf]2

2

2

1

)

1

(

x

x

x

+

+

=

+


	
	

	(2x-1)(2x+1)
	
	

	(b+d)(r-v)
	
	

	(y+x)(x+y)
	
	

	(x-1)(x+2)
	
	

	(3-2a)(3-2a)
	
	

	(a-b)(b-a)
	
	

	(2a+2b)(a+b)
	
	

	(a-1)(a-1)
	
	

	(3x-2)(3x+2)
	
	

	(22-44x)(1+2x)
	
	


� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���








[image: image19.wmf]2

2

2

1

)

1

(

x

x

x

+

-

=

-

[image: image20.wmf]2

2

2

2

2

9

12

4

)

3

(

)

3

)(

2

(

2

)

2

(

)

3

2

(

y

xy

x

y

y

x

x

y

x

+

+

=

+

+

=

+

[image: image21.wmf]2

)

(

b

a

-

[image: image22.wmf]2

)

(

b

a

-

[image: image23.wmf]2

)

1

2

(

-

[image: image24.wmf]2

2

2

2

)

(

x

xy

y

x

y

+

+

=

+

[image: image25.wmf]2

2

2

2

)

(

x

xy

y

x

y

+

-

=

-

[image: image26.wmf]2

2

)

)(

(

x

y

x

y

x

y

-

=

-

+

[image: image27.wmf]2

2

2

2

2

9

12

4

)

3

(

)

3

)(

2

(

2

)

2

(

)

3

2

(

y

xy

x

y

y

x

x

y

x

+

-

=

+

-

=

-

[image: image28.wmf]2

2

2

2

9

4

)

3

(

)

2

(

)

3

2

)(

3

2

(

y

x

y

x

y

x

y

x

-

=

-

=

-

+

[image: image29.wmf]2

1

)

1

)(

1

(

x

x

x

-

=

-

+

[image: image30.wmf]2

)

1

(

-

a

[image: image31.wmf]2

)

2

1

(

b

+

[image: image32.wmf])

)(

(

b

a

b

a

+

-

[image: image33.wmf])

1

)(

1

(

a

a

+

-

[image: image34.wmf])

1

)(

1

(

b

a

+

-

_1138648119.unknown

_1139234718.unknown

_1139234981.unknown

_1139241822.unknown

_1139242077.unknown

_1139234982.unknown

_1139234757.unknown

_1138648196.unknown

_1139234614.unknown

_1139234677.unknown

_1138648197.unknown

_1138648120.unknown

_1138648195.unknown

_1138647673.unknown

_1138647721.unknown

_1138648118.unknown

_1138647654.unknown

